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Solutions Lab-session 2
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2 Currency conversion table B o Pounds 0053
4 Euro in Dollar 1,4765
5| Euro ; Pounds ; Dollar
6 €0,10001 £0,09331  $0.1477
7| €0,2000] £0.1867) $ 0.2953
8 €0.30000 £0.28000 § 0.4430
9| €0.40001 £0,37331_$ 0.5906]
10| €0,5000; £04667) §0,7383]
1] €0,60000 £0,56001 § 0,8859]
12 €0,7000; £0,6533; § 1.0336]
3] €0,80000 £0,74660 5 1.1812]
14| €0,9000_£0.8400 __$ 1.3289]
15 €1,00000 £0,93337 § 14765
16| €2.00001 £1,86661 $ 2,9530
AT €3.0000] £2,7999] §4.4295
18 €4.0000 £3,7332 $ 59060 €5870 £5478 586,67
19 €5.0000] £4,6665 §7.3825
20 €6.00000 £5.59980 5 8.8590
21 € 7,00001_£6.53311_§ 10,3355
22 €8.00000 £7.46647 § 11,8120
23] €9,00001 £8,39971 § 13,2885
24| €10,0000] £9,3330 $ 14,7650
25| € 20,00001 £18,66601 $ 29,5300
26| € 30,00007 £27,9990] $ 44,2950
27 € 40,0000] £37,33200 $ 59,0600
28| € 50,00001 £46,66501 $ 73,8250
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i Quadratic equations ax"2 +bx +c =0
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